Order of Operations

Name: Class:

Use the BODMAS rules!

12 x 4 +12) = 12 x 4+2) =

72 - 3 x 15 = 18 + 9 - 13 =

23 - 4 x2 = 10 x 3 -22 = 12 + (2 +2)
12 -4x2) = 24 + 4 +2) = 12 x 8 + 10
12 x 8-7) = 4 x 8 + 05 = 12 x (14 + 7)
72 + (3 +15) = 18 + 9 -2 = 21 x (4 +12)
23 x 4 +2 = 10 - 3 x2 = 15 + (4 +12)
12 x (7+2) = 24 x 4 +2) = 15 + 5 x 12
12 +8 +2 = 75 x (4 -2) = 12 - 4 x3
72 - 4 x 15 = 18 + 9 +3 = 30 x 4 + 12
23 + 8 +2 = 10 + 3 x3 = 12 - (8 -2)
(10 + 16) + 2 = 38 + 4x2 = 12 - 10 =2
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Answers

Use the BODMAS rules!

12 x (4+12) =192 12 x (4+2) = 24

72 - 3x15 = 27 18 + 9 -13 = 14

23 -4x2 =15 10x3-22 = 8 12+ 2+2 = 3
2 -(@4x2) = 4 24+ (@4+2) = 4 12 x 8 +10 = 106
12 x 8-7) = 12 (4 x 8 205=064 12 x (14+7) = 25
72+ 3+15) = 4 18 +9 -2 = 0 21l x 4+12) = 7
2 x4 +2 =46 10 -3 x2 = 4 15+ 4=212) = 5
12 x (7+2) =108 24 x (4 +2) = 48 15 + 5 x12 = 75
2 +8 2 =16 75 x 4-2) =150 12 -4 x3 = 0
72 -4 x15 = 12 18 + 9 +3 = 21 30 x 4 =12 = 10
23 +8+2 =27 10+3x3 = 10 12-@®8-2 = 6
(10 +16)+2 = 13 38 + 4x2 = 46 12 -10 22 = 7
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